8 7 6 5 3 2 1
e Informetion Hsclbead noreon. Nefthar s oy REVISIONS
oo erition content of PCe Log ond Tore REV DESCRIPTION ECO
Lo e CONNECTOR "B" E HUB DIAMETER WAS 1.25 [31.8] - 10.05.16, PTE 46027
o CONNECTOR "B" 22.5° DUAL BRIDGE ONLY
e
o~ 2050 DUAL BRIDGE ONLY 8X 1/4-28 UNF-2B .50 [12.7] 8X 1/4-28 X 1.75 [44.5] 12 POINT FLANGE BOLT
~ 8X (.281 [7.14] THRU I>
@3.500 [88.90]
3.500 [88.90
@ [ ] @1.34 [34.0]
2.54 [64.6]
2.67 [67.8] W/CONN. PROTECTOR
7 2.54 [64.6]
=" 2.67 [67.8] W/CONN. PROTECTOR
21 [5.4]
21 [5.4]
Q >
"THREAD" V.88 [22.3]
"THREAD" V.88 [22.3] G412 [104.6 (STANDARD LOAD CELLS 5/8-18 UNF-3B, CONNECTOR "A"
(STANDARD LOAD CELLS 5/8-18 UNF-3B, CONNECTOR "A" 121104.6] METRIC "M" LOAD CELLS M16 X 2.0 4H, PTO2E-10-6P CONNECTOR
METRIC "M" LOAD CELLS M16 X 2.0 4H, SPECIAL LOAD CELL 1"-14UNS-3B) WIRING CODE: TYPICAL
) PTO2E-10-6P CONNECTOR
SPECIAL LOAD CELL 1"-14UNS-3B) % WIRING CODE- TYPICAL PIN A +EXC
450 PIN A +EXC E:E g*g:g
— PIN B +SIG 5013] - _)_ PIN D -EXC
PINC SIG /\ PIN EN/C
PIN D -EXC 1.13 [28.7] 450 PIN F N/C
PIN E N/C (@1.34 [34.0])
PIN F N/C \ 12 [3.0
@1.34 [34.0] { 123 ]—l r.zs [6.4]
20 o076 m
|
. | @1.34 [34.0 * ?
I l f 4X B.25 [6.4] V.25 [6.4] 34 [34.0] 62115.7]
ﬂ 62 [15.7] (SPANNER WRENCH) f
1.37 [34.8] i U
U 2.50 [63.5]
T X .25 [6.4] 725 [6.4]
(SPANNER WRENCH)
B4.12 [104.6] . |
f\\\ .030 [.76]J
( + ) @1.34 [34.0]
NS
@4.12 [104.6]
"THREAD" V.88 [22.3]
(STANDARD LOAD CELLS 5/8-18UNF-3B,
METRIC "M" LOAD CELLS M16X2.0 4H,
SPECIAL LOAD CELL 1"-14UNS-3B)
4
+
)
\ ./
1203, M1203, 1403 AND M 1403 SERIES LOAD CELLS
"THREAD" ¥.88 [22.3]
(STANDARD LOAD CELLS 5/8-18UNF-3B,
METRIC "M" LOAD CELLS M16X2.0 4H,
SPECIAL LOAD CELL 1"-14UNS-3B)
MODEL 084A90 CONNECTOR PROTECTOR SHOWN: 1203, M1203, 1403 AND M 1403 SERIES LOAD CELLS W/BASES
OPTIONAL ON ALL 1203/M1203 SERIES AND 1403/M1403 SINGLE BRIDGE LOAD CELLS ]203, M1 203, ]403 AND M1 403 SER|ES BAS ES |NC|_U D|NG DUAL BR|DGE
STANDARD ON 1403/M1403 SERIES DUAL BRIDGE LOAD CELLS
[> WIRING CODE FOR "T" SERIES LOAD CELLS
PIN A +EXC.
PINB +SIG.
PIN C -SIG. UNLESS OTHERWISE SPECIFIED TOLERANCES ARE: DRAWN CHECKED ENGINEER @A@C @ ME@@E
E:E ED jI'IIEE>I<DCS:'DATA DIMENSIONS IN INCHES D'MEN[s:g';iL'éﬂ%'TETERS MDF [11/21/11| JpM 1172111 PTE | 11/21/11 A PCB @ROUP
PINE TEDS GROUND DECIMALS XX +.01 DECIMALS X #0.3 TITLE 24350 Indoplex Circle, Farmington Hills, MI 48335
XXX *.005 XX *0.13 - - i
OUTLINE DRAWING [(’:li] 324 0001 E-MAIL: ltinfo@pcbloadtorque.com
D SUPPLIED W|TH MAT|NG FASTENERS ANGLES + .5 DEGREES ANGLES + .5 DEGREES ]203/]403 SER|ES, PT CONNECTOR . . 49605
LOW PROFILE LOAD CELLS
FILLETS AND RADII FILLETS AND RADII
.015 MAX 0.38 MAX SCALE:  FULL | SHEET 1 OF 1
8 7 6 5 3 2 I 1




